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Perhaps it was inadvertently and he is absolved from exile

Overview

"1 27 asked, how can you prove from "2 71917 1P that 7212 119X 09W» (since you
assume that he was warned), perhaps it was a 2 (and he was not warned), and
TP means that the aggressor is absolved from going to m>a if the victim did not
die, but instead he must pay. The implication of this interpretation is that if the
victim did die eventually, the perpetrator will go to n%3. This presents a difficulty.

n1voIN asks:
- 10999 AYHY IN /2 ¥IIWANY NN NN ONX M9 IOV 9950 PNYS 13939 NN

The "2 is astounded! How is n»x applicable if the victim died after the

perpetrator was arrested for two or three days?
- 7992 19N NT 291 DIV 297 IN “DY 12 LAY (w1 3,y Pou») HRY 22 1299NX NN

For the Xn»72 taught in 1RW 2 P79, if he cut both 2°12°0 or the majority of both

0°11°0 and the victim died, the killer is not exiled, and x°ywx '3 explained the reason -
- 1NY25a AN NDY 1PUHHT

For we are concerned perhaps the wind confounded him and caused or hastened his
death, so here too why should he go to m?3, perhaps he died because 10222 M7 -

- 49559 797 119 MVOT XV 93 NIYUN MY 2337 *NYL)
And the reason for this exemption is because regarding nws, we find many things
which exempt him from m?s, for instance if he killed him in an upward direction -

- 9 7YY 1YY 7T P2 N PN NIPNI YANT

Where regarding the death penalty there is no difference whether he killed him
7112 in an upward direction or in a downward direction -

' The o°p109 in w-1°,X5 (2°0DWn) Mnw read, DX ©° .2WH7 993) N2 K9] AI3RI I 1282 MY DY WK 797 DOWHK 120 ") 0
XD K97 107 P2 P2 1700 AR IRWn HY yana 720n7) 032, This is understood to mean (as our X3 explains) that we
arrest the aggressor and wait to see the outcome, and if the victim survives, he is let go and is required to pay ( P2
X7 XD IN° N2w), but if the victim eventually dies, the aggressor goes to M23, even if he died several days after he
was hurt.
? The two 0°1°0 are the trachea and the esophagus (the wind pipe and the food pipe), which is what we cut when we
slaughter an animal. Here it was done to another person.
? Seemingly why is there such a rule; if someone was vmw a person 7°tm2 and he died some time later from this
wound, the murderer would be put to death; n9own explains why 3w is different regarding m>s.
* If someone was on a ladder and while falling down, he killed someone 3313, it depends; if he was coming down
the ladder, he is n23 21, however if he was going up the ladder, he is 715 from mY3, because it is %Y [M71. See
2,7 Non.
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Simialry regarding nv»» we may require that the victim dies immediately, as it

is written, ‘and it fell upon him and he died’ meaning that he died immediately -
- 5112 WIN 191 72505 1) NN 237 23 Yy Ny

And even though that regarding the death penalty it is also written, ‘whoever

smites a person and he dies shall be surely put to death’; nevertheless,® by xw, he is
required to die immediately in order for the killer to go to M3, however by 7911 there is no such a
requirement. The question remains how is it possible that he will go to m?) after a time lapse
from his act until the death of the victim.

N1D0IN answers:
- ©NN 199NT 115353 NN NPY 1PPYN NYT  XUIWT RNA3 1Y NNIYRT TY Y

And one can say; that it is possible for him to be exiled if he attacked him in a
marble house where there is no concern that perhaps the wind confounded
him, as the X771 states there in wnxw » —

nvoIN offers an alternate solution:
= 192531 NN HPAT INDAYA NN NNPY 1PYWIN DY 29992 VHYA NPT ) ON

Or you may also say that we are concerned that perhaps 1n%2%2 11757 only in the

case of @w 2317 12 wnw, for in that case the m= can easily confound him, because

he has an open wound on his neck -
= 1595 POt MM PR Mban ANYa YaN

However, by other wounds the wind will not damage that much -
= 427 DY NN YY 7Y MY Dr1avan N9 PMIYY PHIIY

For we are capable of properly preventing mam ®12%2 by tying something
around the wound —

mooIn asks another question:
= 9990 19 1INV P9 NIPa Ynaw 255 8D WA NP OPINN 39N YIND ON)

> See footnote # 10.

6 39,7 (°"von) 727

! 2,80 (D°0dWnN) MAw.

¥ moon (seemingly) does not explain the reason for this distinction. See “Thinking it over’.

? There is no wind blowing inside a marble house, so there is no concern for 12292 M7, therefore he will go to M3

even after a time lapse. The 109 is discussing such a case.

' It would seem from this answer (and the following one) that MmooIn is retracting from what he stated previously

(see footnote # 5) that by 22w the victim needs to die immediately if the killer should be exiled, rather m291n maintains that

as long as there is no concern for 10272 M7, there is a M2 211 even if the victim died after a time lapse.

" naw is the reimbursement for the inability of the victim to work; the perpetrator pays for the victim’s
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And if you will say; how can we establish the 109 of 715177 7P by a3, since naw

is written in that verse, as it states, ‘he must only give naw, etc. and pay for his healing’ -

= (0w 3,93 Xnp Xa3) DTN T P9 9102 199N TI 29N NI MY

But when someone wounds axwa he is not liable for naw, as X217 stated in the
end of 937 73 pOp -

- Pgr9a7 79 Y YAN PR P YA Y 2905 Zyss nnn yson nanT

Where we derive from yx2 nnn vxp to hold liable a »»w just like a 7o

regarding damages, but not regarding the other four payments. How can we say
that 79177 711 is in a case of AW, when he, the 797, is required to pay naw (and "19°7)?!-

N1B0IN answers
- NN AT 1Y POINA NY NNIYNT Y Y

And one can say; we can find a case where a W pays 0°127 '7; if a 7"2 mhw
added an additional lashing to the one who was mpbn 2™ -
- MY AINYY 317 X9 1409927 712 290 119 XY BN N9 (3,35 ow) NIIDNA VINT
Where the Xn>>12 states in %27 P9 that he is 77, if he died, and if he did not
die, he is liable for 25927 '7, for he is different from other 2w -
- MY (YY) 03 YW IMINY 0393 199 IN
Or for instance that he entered the store of a carpenter with (out) permission

and he was struck by a flying chip of wood -
= ©9937 79 MY N2 YT RO 29D DNN NIMNY

Where it is evident there according to o''7 that he can receive n12s (if the person
was killed by the chip), or 25927 '7 (if he was wounded) -
= (%319 0W) JX9N TY9D 9102 12999NRTI 0927 /12 299N N¥N NI NN 1N Y9I N
Or he fell off the roof from an ordinary wind, where he is liable for 2°927 '7 as
it states in the end of »3777 7% po -
= A9NT M ONRT NYANONM
And presumably that if the victim was killed that he is exiled -
+192NN 9Y 1) AINA YY INY NNT IWINT T

unemployment during his rehabilitation period.
12 95,80 (Dvown) nnw.
13 511 is the diminished value of the wounded person if he were to be sold as a slave on the market. The other four
payments are 7v¥ pain, "19°71 healing expenses, N2¥ unemployment, and n12 shame. One who wounded someone
w1 is liable only for the P11 payment, but not for w12 ,naw ,M5™ ,vx.
'* The xn»"2 there merely states that 7913 n» oX, and MO assumes that N» 12 OXY he is 2127 '72 20, since he is &>
AW IRWS 7. See 2w KO3 that here the 72 5w was N3 11901 (so he may be considered a 712 21p 2W).
> He wanted to hurt him (so therefore he is 2727 '72 217) but instead of hurting him, he killed him 313, so he goes
to Mm%,
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Or it is possible that he was a »W regarding the death, but was a 7%
regarding the wound -

Summary
One is M>x 2>°11 (even) for a belated death if there is no concern for 1n%2%2 M.

There are several possibilities that one is (M73) 21 (and) 0°727 '7 even by a aWw.

Thinking it over
1. How can we explain why in mpoin question,'® he assumed that by aw, the

victim is supposed to die immediately for there to be a m?3 21’1, but by 71 there is
a 7n°n 21 even if he died later?

2. npoIn offers various examples where one is 0°127 '7T 211 by a 2. However, it
seems very awkward to establish the P09 of "% o*wix 112> *21," in almost any of
the cases which mooin suggests. How can we say that 0°wiX 1127 »2 refers to a mohw
7", a 713, or to falling off a roof 71xn M2, etc.?!"®

16 See footnote # 8.
17 See footnote # 1.
18 See oax ond.
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